00 1(00000)

06000 To6
(000000000000 8002007/5/24(0))

ogoood
T06-1:0 00
(00000 2007/5/24(0)17:400 0 0 000 2007/6/7(0 )14:30)

O000OMakefileD 0000000 (gengou.c) D00 D O0D00 (gengou.in)D 00O OODO (gen-
gou.out)

1901000 20100 0000000000 DLDO0OObOD0OCO0O0L0D0ObO0ObDOobOObODObOobDOobDOn
0400000000000000000 (DOOO0OOUDOOOOOO)0D00O0 (20000)00
0000000000000000000 (1901-201000)0000000000O0OOOOOO
gboobooboboobooboobon

gob19010b0o0o34booooome200bo1boobnbo92e0bdn100onoonigsg
000 1db000db0obo0obobooobooboo11goboboooboobogegnuonog 64
gooobbobo1o00ooon
goo1l
b08bOxx@tyy:~/T06/1$./gengou
goooboooooo

00 (1901-2010)7
2007
200704000 190000
b08b0xx@tyy: ~/T06/1$
goo 2
b08bOxx0tyy: ~/T06/1$./gengou
oooooooooo
00 (1901-2010)7
1900
oo Db OUobObObObbOobbOObOoOn
b08b0xx@tyy:~/T06/1$




oood
T06-2:0000000
(0D D00 2007/5/31(0)14:300 0 0000 2007/6/7(0 )14:30)

00 0OMakefileDOO0O000O (equation.c)000 0000 (equation.in)00 00000 (equa-
tion.out)
gbooooboooboobooboooobobooboobooobooboboooon

ax?+bx+c=0
Jd0000DOOo0ooOOoooOoOobOoobOo0obOoobOoooOooo
e JOUDOOODOOODOOO

- 0O000D e,b,c00000000DODO0OOODOOO
- D0o0oooobdd b, cO0000DOOOODODO

- 004b,c00000000000000(0O000000000.000000000
0oo)

e JOUODOODOODOO

oooobooooboobooom
— 0000000000000 00000(oo00oUo0oloOoOoOo2000000)

- 0J000000O000 (o00100200000)000000(OUOOOOOn)
oooooo

— O000obO0oo0o0oooOoboooooboooobooboobo 200000000

ooo1
b08b0xx@tyy: ~/T06/2$./equation

ax(xxx)+bxx+c=0 000000000000
20000000 a=?

1.0

100000000b=7

-3.0

0000dc=?

2.0

oboogo2000000d

000 ¢ 1.00) (xxx)+( -3.00)x+( 2.00)=0.00000
gb 20000000000

xl= 1.00

x2= 2.00

b08b0xx@tyy: ~/T06/2$




goo 2

b08b0xx0tyy:~/T06/2%./equation
ax(x*x)+bxx+c=0 000000000000
20000000a=7

0.0

10000000b="?

-2.0

O0000c=7

3.0

gbooo1oogooga

ooo ¢ 2.000x+( -3.00)=0.00000
go1gooooaa

x= 1.50

b08b0xx@tyy: ~/T06/2$




